RD Sharma Class 7 Solutions chapter-
20 Mensuration-| Exercise-20.1

EAEYESE =RoDal.
Solukion A1-

11y we have,

_entth =8.5M and, B¥eadth =a.4m

WIKT
Avea of & 1.1.'-:-1-.-1”3:.; = Lenpth ¥ Bieadth,
Aiga, af a veclangle = & Swx2-4m
= fgawm

iy we have,

Lfn.;anln = |Botm, BRieodbs = |50cm

WIE Know thal., ym = jpoem =

Lengkh = 150 em = 204
Brendlh = 150em= (S0 T;e Bm

Prea ol o r -eh-gri:h AEVEad b,

= |=Emiil.Gm

Qegmt

TE:{H‘V:\51E = 89 ,“]—

Solution -2 - c

T wae b

Side of 4 ua¥e = 26cm.
we know thal, Avea ofa squave = sideseide = aigest
- Aveg of the giun\f = Fhcwm AZ . E Cm
= L.FEcm

ATCa pf EME Suayve —E.FLem

side ofF e S unye = |=Sdm

|
(i) we hove,

we Rnoed sat , (dm = lecm [ dwsdecimeter]

ThTea af the Sguaxe = Lﬂ]déf-

Eide of the Square =]-8d™ = &% iocom '
= [B o

AYEa of Ihe Sguave = | Scmy 8em

T



Solution-5 .-

Uy e have,
Lengbh = 12E6™ , Bread s = Yoom

Axea ofF a Teckangulay field v hect ores = 9

we knowy Haak,

4

A by =
eckare - o = =lo,boam™

o frea ofF a fe::l—:xﬂ-a.uhf {Eeld _

Lengkh v preads,

l&‘snﬂxqoﬁm

= E0,000Wm
=
L '

hectares.
lo,o00 *

o Bwea o o fec{a'n%ulqy Field = se,000%1

T_D hectaves
TS
o Asea of a valangulay field,. & hesdaves.

0ty e have, LE—ﬂEBm —Temsd™ =75 mx+ 5 loem.

1Mt BOCTH:-ngt—?ﬁF
= s -5™m
Rreadtn = Ao .

S hsea OF

a Tecbangulay field = I.e,né’ch*;f@u

= 1 5sd

" qog@
A
we know thak . Im'= ﬁé}aakeckﬁ ;

Avea of a veckngular field =

hee bowes
=]
- ATea of a vell

¥ c@os heclaves,

Selukion -o6 i- x
epiven that
pPoet of lend
wall  of

d Rreadth =am.
o o ETEQJ\UJ =
hven

Length o Bvendtla 0 deey

-

A h am =g

£ owall =

Length of Wall x Bveadkh ot ula))
wemileom = joom>
Avea of Painting way =

ATea ot wmll - Area ot Doy
low™ - gm- =4 m=
Painkting wall = A4 £ Re D .5q

fosk of

L coab pev 31""{Pnl\";kih3 = RS % 54]
cosk of F“-l'n]‘}nfj. Wall = qyys.50 =

* Rsdis




Solutien —o7 -

TS given thact.

Reckangulay  Shaped wive of Lengt, = Yoom amd

Bveadb, = Zacm.
GT']\H';f‘I 't’nﬁ’ﬁ Pevimebey of R_gclo.naie-: PE"‘(IIMCLE" of Sqlioye
Cor A wiveie (nthe shape of Rectomgle s pent in S9uave

Shape],
& Seitk) = 4isided

= 8(uotas) = ylsided = 1&uem = Yiside

= side =3lem.
Avea of sauare = @iIYe qgicmt [ A=cgiderd]
Avea of Reclangle - Goxaz :tga:ml' CoAazddb] .,
. Squave  @ncleses mMore aveq.

splution-08 -

T is gven thal.

Windew | Pane of dimensgiong Lengbh = Boem

Biead tt =|Gcm :

prea of Fand =

= Pane L.g\"]éh'l1 ¥ Pane Eveadty,

= fecrn KLidem

= L{QOCML

= &Y o [lc
= _"Bj e
\c,ohl

o
= p.oYym

Iy f‘lc Avea

= O-Yg o

alass will ke Trﬁ\ Window = 6.4 g

L Avea pi Windoed = las

Splution-o9:-
T tis given

o

=

= |ocm omd Bveadlh =1%cm.

al enthh = 3m  amd Bréadbh = lm

a of Mawkletile =Lenglh afbiley Braadt, of

Lile
= Ipemt l2om =180 ¢4+

e astaen [0 emte L]
ioyoo
[
Piea of Kall =3w o 4w = 13™

¢ plovpf Gleg Mgdwd » 7088 oF hindl T

Porea of Heshle tiie Bl

=iooo kil
Total cost of the kiles for covening pf luall =looot1Es = Rel,mo)




solution—|oz-

Given thai .,

Tabkle top = ddmScm = 9%pemd 50mM =950,

Tabl€ Long = dwSEM = ENocmt 50m —geem

Avea of Takle = Takle Tepy Talle Long

Asem Lég oy

= 11 5¢m-
osk Lo patih Table = 6195 430 pois
[ ': cosk per 89.¢m Ppoligh = &nPtJSﬁ‘]
. cost to polish Table = RIS Y e
= Rs.laas.
Lo g =100 Pajsd]
.._.—---Jj
Seclution -1 1=

It is Griven thatl,

Room Length=9.6um and & veadin usidel

FE 2w,
Rectomgulay tile af Lendth = 8em.
Breadbh = joem.
coct pev tile = ge 2.50.
Aven of Room = 9.6 &4 6_;’_ m'l.— —ln
Area of RED*qf}Su‘ia.‘ Lile = &foﬂ'ﬁ-lct m""
= O.c20m
\ Ave i
Ne-ofulés = L e e e ey _ Pl g wim |
Avea of Reckan b T
: = g aatbiles.
. cosk of the Liles =g 3
Pt * Es 6840

,s:imi-.iun—tn‘&;d

ﬁ'n.len Squqgre

Avea of 5 eld= 179 m ¥ 17 qm,

= 3&oylm*t
RalSing o Lawn b the field -
Rs i-50pPev 89 4.

Mele) cos® of Belsing of a Lawr cnlhe field =38oyIxi-5

= Rs Y%, 06050 pajge |

Total cosl= Bs yg,061.50.
Solution -t :-
Given thal,
covvidev of A school Lenghn = am
BYeadbth = & m
Canya s S.que‘ Lené¥k - 5w
BTeadth =1m .

Avea of arorvidor = LY B = 8M wgm

=Yam-

1
- .gLeeE ATEa = Qmyivn = &m .

rde
o of Shesle = Mica of fovvi v: %m..;
Camves sheel hyea  2m
y TRy

CG.S': of the cawvvas sheets Yea. 4 cover bhe

| cosidors 3y Rs.g = RS 194,



Selution =152

e 8
Play ground Length = €2m gocm = 68+ foxl m
= L& -6m.

pread = damycem =851 4O
oo
=R5.qm.

Atea of aplay around = 626425 4 2159004 m—

cost of turfing =1590 04 %X 8.8 = Rs3q19s,

Penmeter of a play ground = 2026 +25-1) =1I6m,

Pevimeter of SHmes voundthe field= Ix 1 em=-52am
And he walks Smisec. i

5a
Time = Tﬁ = 2Ly Secends T Yminllsecomds.

Sclution=I16 ;- y
Lane lengbh=s ikom and BYeadth = Sm.

B¥icks pf Lengbhic 2 ocm and Breadih s lgem

- r
fvea pf a Lome =taomxsm = Joom
AFTEa of a Beick = RoCrXiSem = 3boom”

-

S A0D
o EaaeT—Td. ~ |
o, 000

No-of ByicFs = Atea of tane _ q
Ave a of Bwick

oo .

Total coset of Baicks = dovg o
; Coskper

loeo byicks
. =Rs156).
Solution—17.:- a

hneet of Length = 'ascm § Bready, = gecp,

i PaFey of side Lengbh=hemd BYeadt,=5cm,

et of Papey Areq = Rscmygs5em,

iece of Paper Avea = IMemxgey,,

Noof ET\VCLﬂ::F-E s = SMM

Pleo of Papey Avea
= 1850 B Sy
———

=1
Fiow Xgems s .

1285cw of ernveloPe€s can Le made owl O'FD‘SL@[-

Solution=1g3-

The widdof A cloth =1M6em.
Length of o cloth= 2 = b
No of diapers =4S
Piece of cloth Lengbth = 50w and
Byeadkh = Mecm

No-ah diwpess = P58 of acleth

RYee of apiece af clobi,
Foem % &

B0 crnillem

A5 t500Cm
=

= 4 = l =Wsewn .




Slﬁul“lb‘ﬂ ati—
Cven  diwengions 8] o ol
‘!LEHFP{\: By v = :’..

1

Vveadh = 3um = kb
I A c‘a{uen e ‘D‘L_ dood end m)ncﬁmg = ot

dot bele e haght of dhe bal,

It B‘-P"—"ﬁ- he o
At lil' + LIV'I l+ 't;‘llr\.l-ﬁ_l M’q kJ'J"‘Jﬁ

P ('1&;<'h+ ek s 2urh + 2urh - ¥ Y™
=  oxhi€26+au) - %0
- (1roh - %0Ye"

,’,Tnl:kj avea § Wﬁq:ﬁm&r'&o'}wﬁ",

Ple howe
Cost T _ ?“F’{“*S Al wsedla,  per Awt o B Koo
Cost 8] Pc.{w_w‘n%_ ~the walle = ¥y qyog -
Lo iy, we ﬁ&.e_.t'

Total ouwcea il Pﬂp!‘n‘r\.& o B m*)

Rub el e ) Tetal  evea = )

g

yrobh-&0 = e
120k = 121p6

— '.l 0 .m
o Hedght  gh ke " 7
o




chapter-20 Mensuration-|
Exercise-20.2

Liercise-8e-2 .

SulutiDh“DL.-'

LebthArcp bE bhe Gyassy Laan , and L‘?L'r"‘iﬁ_q
be the eitfrnal boundayveg of the po
"%

s,
e hay e,

Lendh, of ap = Yom

Bveadbi, of Be = aem . I

Asea 0F Lawn Asen = Yovacwi

oo :
= Goo m®

Lendby  &F pg - 41‘1@'*1*'9}&:

B¥eady oF Gr =

(254242 m

-Avea oF pags - UY waqm

= e
Mo,

AT€a  ofthe Path

Z Axea OF PQRF,"F\T{?G\ o PlLavin

= CI&5E -@on Y
= BT et

Bish | &9 13/ 15
Licost of | dveuive e

o I3 RSEM;-

l : “nsa&"rq.

spolukion —pg21-

Let A

1! Siuave Pavie ong, Leg Fape e
bne boun daries Sfthe pe by,
we ha
Lensd AR :Bom—-smeaa
Lentkh Pa = 2om-am

= Sem=aideps

ATea of ARBcp = 2 oML Yom

= oomt

A¥ea of paps = 28 T CT N

e L qul-

Totaldr o= E=psli+ 8¢

Cost Persq.p. = RS ¢

Aveq

£ e
Ty

RS- 1.5 Fey BE oy



coluwkion-0y '
Rectangular shelt

Lengtl, = 252m
BTeﬂdth:BOCh

Asea = |pg B N et

= Boso em—

S5 uase 0f side =lodm

frea of SLua¥e€ s lax|oemt

Elboew?
A¥€a of yaquame, = M KO0 g
S UYooept
Avea of Remaining gheef =A¥£a0f TEck - YuAvesols,
= F 000 cmT—Yoocm =16 —



